Name_______________________________________________ Per ____
[bookmark: _GoBack]Math 8 Final Exam Review
Part II
	[image: ]
	[image: ]

	[image: ]
	[image: ]

	[image: ]
	[image: ]

	[image: ]
	[image: ]

	[image: ]
	[image: ]


	[image: ]
	[image: ]


	[image: ]

	[image: ]



image6.tmp
6l

John puts a 13-foot ladder against his house.
His ladder is 5 feet away from the wall at the
base and reaches 12 feet up his house.

Similarly, John uses a 16} foot ladder that is

a%feel away from the wall. The longer
ladder will reach feet up the house.

a5l B 15 co1a D13l
1 1
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David drew marbles from a bag, replacing
them each time. His results are as follows:

red 1]
blue "
green W
white n
black ]

Using the same ratios, if he drew and
replaced 60 times, how many times would
he expect to get a blue?

A 5 c. 2
B. 15 D. 30
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The Smiths want to build a new doghouse
with a volume 4 times that of their old one.
What might the dimensions of the new
doghouse be?

Shown is a picture of the original doghouse
without the roof.

20

250

D

A 7fby65ftby6it
B. 2ft.by25ft by6ft.
C. 3ftby4ftby5ft.
D. 4ft. by 51t by 6 ft.
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David is playing a game in which two fair
dice are rolled. To make the first move he
needs to roll doubles or a sum of 9. What is
the probability that David will be able to
make the first move?

A2 el 2
9
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If a square has an area of 35 square units,
what would be the length of its sides?

A, 8.75units
B. 17.5 units

C. 75 units
D. /35 units




image11.tmp
26

What is the slope of the line that goes
through (-3, 2) and (3, 0)?
3 1

A -=B -——- C 1 D.
2 3




image12.tmp
29

Two regular six-sided dice are rolled. One
die s red and one is green. They will either
show the same number or not. How many
times as likely is it that the numbers will be
different?

A.  5times as likely
B. 6 times as likely
C. 12times as likely
D. 30 times as likely
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Joan connects point (3, 2) and point (-4, -6).
Use what you know about right triangles to
calculate the length of the line segment
Joan drew (round to the nearest tenth).

A. 7.5units C. 10.6 units
B. 8.0 units D. 10.7 units
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Determine the slope of the line with points
located at (-3, 2) and (1, 2).

cowm>
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Erin wanted to know which motorcycle went
the fastest. The white one could go

181 mph, the red one 289 km/h, the black
one 192 mph and the blue one 278 km/h.
Which color motorcycle went the fastest?

Use 1 km= 0.62 miles.
Black
Blue
Red
White

cowm>
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Which equation is shown on the graph?





image3.tmp
The shaded part of the giant cookie shows
what Terry ate. Cami and Renie each ate

half of what was left over. What fraction of
the cookie did Cami eat?

Al
2
1
s 1
3
c 3
8
3
p 2
2
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Storage
Room

Feing

| Garage Door

O=2ft.x2ft

This is a sketch of a 40 ft. by 40 ft. shop. Using
the sketch and scale given, the area of the
storage room when built willbe _____ ft.?

A 32
B. 48
C. 9%
D. 128
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The first chart shows a linear function with a
slope of 2. Finish the second chart of a

linear function with a slope of %





